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Matlab &1+
clc;clear;close all;
% RS EFHTE

A=[0,1,0,0;0,0,0,0;0,0,0,1;0,0,29.4,0];
b=[0;1,0;3];

C=

d=

[1,0,0,0:0,0,1,01;
[0;0];

Q=[b,A*b,AN2+b AA3+D]:
P=Q+[0,-29.4,0,1;-29.4,0,1,0:0,1,0,0:1,0,0,0]:
% EERS

kO=conv(conv([1,2],[1,3]),conv([1,3+4i],[1,3-4i]));
k1=[-k0(5),-k0(4),-29.4-k0(3),-kO(2)];

k=k1/P

L=A+bxk;

eig(L)

[num,den]=ss2tf(A+b*k,b,C,d,1);




sys=tf(num(2,:),den);
step(sys/(sys+1));
figure;
rlocus(sys);
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Matlab &I+ HS
clc;clear;close all;

% RISZ B TR
A=[0,1,0;29.4,0,0;0,0,0:];
b=[0;3;1];
C=[1,0,0];
d=[0];

Q=[b,A+b AN2+b]:
P=Q+[-29.4,0,1:0,1,0:1,0,0];

% BERS
kO=conv([1,8],conv([1,6+1i],[1,6-1i]));
k1=[-k0(4),-29.4-k0(3),-k0(2)];
k=k1/P

L=A+Db*k;

eig(L)

[num,den]=ss2tf(A+b*k,b,C,d,1);




sys=tf(num,den);
step(sys/(sys+1));
figure;
rlocus(sys);
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clc;clear;close all;

% REZE(EFFE
A=[0,1:29.4,0];

% BERS
kO=conv([1,2+2i],[1,2-2i]);
k1=[-29.4-k0(3),-k0O(2)];
k=k1/P

L=A+Db*k;

eig(L)

[num,den]=ss2tf(A+b*k,b,C,d,1);




sys=tf(num,den);
step(sys/(sys+1));
figure;
rlocus(sys);
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